





Q18. Based on the following figure, which letter represents Teachers who are married and live in a

joint family?
U l:] — Married people
. S/Q\ R (O) —> People who live in joint family
/ F A —> School teachers
(AR B Q (GRS (D) P

Q19. Which country is not a member of the SAARC?
(A) Burma (B) Bhutan (C) Nepal (D) Maldives

(Q20. Which of the following conveys the meaning of a metaphor?
(A)A fundamental mode of communicating meaning in which relationship between two things
1s suggested.

(B) To communicate the meaning of an unknown by transposing it into the terms of the known.
(C)My love is like a red, red rose.
(D) All of the above.

Q21. Which of the following reaction happens, when glucose 1s added to water?
(A) Exothermic (B) Geothermic (C) Endothermic (D) Ectothermic

Q22. Select the fifth step to complete the series.

. . 7

(A o o (D

(Q23. The phrase Gross National Happiness (GNH) is a measurement of the collective happiness of a
nation. In which country did this concept originate?
(A) Myanmar (B) Cambodia (C) Bhutan (D) Thailand

Q24. Megabyte is smaller than Gigabyte. What 1s larger than Terabyte (TB)?
(A) Yottabyte (YB) (B) Zettabyte (ZB) (C) Petabyte (PB) (D) Exabyte (EB)
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PART - | final answer keys
Q No. | Answer | Remarks Q No. |[Answer | Remarks
1 A 34 A
2 B 35 1.0 mark to be given to all candidates including
3 C those candidates who have not attempted the |
4 B question.
5 D 36 B
6 B 37 A
7 A 38 D
8 B 39 A
9 D 40 B
10 C 41 C
" B C Two correct options. Either B or C carries 42 o
equal marks 43 A
12 A 44 B
13 C 45 D
14 D 46 B
15 B 47 ¢
16 € 48 D
17 8 49 c
18 B 50 C
19 A 51 A
20 D 52 G
21 C 53 B
22 B 54 6
23 3 55 C
24 A, B, C, D| Four correct options. Either A, B, Cor D 56 D
carries equal marks. Those candidates 57 A
who have not attempted the question 58 C
will get ‘0 (zero)’ marks. 59 B
25 B 60 D
26 D 61 B,D Two correct options. Either B or D carries
27 A equal marks
28 B 62 2.0 marks to be given to all candidates including
29 B those candidates who have not attempted the
30 1.0 mark to be given to all candidates including question.
those candidates who have not attempted the 63 A
question. 64 A C Two correct options. Either A or C carries
31 B equal marks
32 C 65 B
33 B 66 B
67 B







Q69. Below is a set of 4 strokes. Use these strokes to create 4 recognizable objects by drawing in the
space given below. The original images/strokes should remain visible in your ereation. You
may proportionately scale and rotate them. Give a caption to each image.

o
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. Using only lines (no shading or colour), complete the illustration of the i1ce cream cart on a
Q71. Using only li hading 1 pl he ill ' f the 1
pavement of a street. Draw the following characters around the ice-cream cart: a 5 year old girl
with her 70 year old grandfather.
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